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Instruction to Candidates:

e  This paper consist of Fifty(50) multiple choice questions of 1 mark each and One (1) short
essay(200 words) of 10 marks.
e  Use of any calculator or log table etc. is prohibited.
SECTION A: ENGLISH COMPREHENSION

Choose the appropriate antonym for the given word
1. Malevolent

(a) wicked (b) amiable (c) mean (d) condescend
2. Longevity

(@) brevity (b) endurance (c) sanguine (d) seniority
3. Amalgamate

(@) immaculate (b) integrate (c) invigorate (d) Isolate

Fill in the blanks with the most appropriate alternatives
4,  The stewardess showed the passenger .

(a) when to start travelling (b) where to land the plane

(c) how to fasten the seat belt (d) how to judge the altitude of the plane
5. Doyouprefer __ ortraditional art forms?

(a) archaic (b) contemporary (c) foreign (d) simultaneous
DIRECTIONS to Questions 6 - 10: Read the following passage and choose the answers in the
context of the passage:

A well-dressed young man entered a big textile shop one evening. He was able to draw the
attention of the salesmen who thought him rich and likely to make heavy purchases. He was
shown the superior varieties of suit lengths and sarees. But after casually examining them, he kept
moving to the next section, where readymade goods were being sold and further on to the hosiery
section. By them, the salesmen had begun to doubt his intentions and drew the attention of the
manager. The manager asked him what exactly he wanted and he replied that he wanted
courteous treatment. He explained that he had come to the same shop in casual dress that morning
and drawn little attention. His pride was hurt and he wanted to assert himself. He had come in
good dress only to get decent treatment, not for getting any textiles. He left without making any
purchase.
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The young man was well dressed because
(a) he wanted to impress the salesman
(b) it was his wedding day
(c) he wanted to meet the manager of the shop
(d) it was his habit to dress well
The salesmen in the shop are described as people who pay attention to
(a) only young men and women (b) pretty women
(c) only rich customers (d) regular customers
The young man moved away to the hosiery section because he
(a) was not interested in purchasing anything now (b) wanted better cloths
(c) did not like the readymade cloths (d) was restless
The manager asked the young man what he wanted because
(a) he would give him exactly what he was looking for
(b) the salesman had drawn his attention to the indifferent attitude of the young man
(c) he thought they could do more business with him that way
(d) he thought the visitor was dissatisfied
The young man left without making purchases because he
(a) did not have money
(b) could not find any item of his choice
(c) decided to come to purchase later
(d) had come only to make a point about the indifferent attitude of the salesmen towards
casually dressed customers
SECTION B: ARITHEMETIC ABILITY

Jaylal can cover a distance of 5km in 20 min. The distance covered by him in 50 min is:

(@) 10.5km (b) 11km (c) 12km (d) 12.5km

The sum of ages of a son and father is 56 years. After 4 years the age of the father will be
three times that of the son. Their ages are:

(@) 14,42 (b) 12,44 (c) 16,40 (d) 15,41
Find the simple interest on Rs. 10,000 at the rate of 5% for 5 years.

(@) Rs.2000 (b) Rs.2250 (c) Rs.2500 (d) Rs.2750
A TV is purchased at Rs. 5000 and sold at Rs. 4000, find the lost percent.
(@) 10% (b) 20% (c) 25% (d) 28%

If a:b = 2:3 and b:c = 4:3, then find a:b:c

(a) 8:12:9 (b) 2:3:8 (c) 2:3:9 (d) 2:3:12
How many pieces, each of length 4.5 m can be cut of 225 meters?

(@) 40 (b) ssb4 (c) 56 (d) 50
Difference between a number and its 3/5 is 50. Find the number;

(@) 120 (b) 123 (c) 124 (d) 12

If 16 toys cost 240, then what do 40 toys cost?

(a) Rs. 600 (b) Rs. 620 (c) Rs. 640 (d) Rs. 660

2



19.

20.

21,

22,

23.

24,

25.

26.

217,

28.

29.

30.

31.

32.

33.

34.

MTTM2018
How many numbers between 200 and 300 are divisible by 13?
(@5 (b) 8 (c) 10 (d) 15
If 5 women or 8 girls can do a work in 84 days, in how many days can 10 women and 5
girls do the same work?

(@) 32 (b) 48 (c) 38 (d) 52
SECTION C: LOGICAL REASONING
Find the missing term in the series: SCD, TEF, UGH, , WKL
(@) CMN, (b) UJI (c) vIJ () JT
Which number should come next in this series? 10, 17, 26, 37, ?
(@) 46 (b) 52 (c) 50 (d) 56
If PRIVATE is coded as 1234567 and RISK is coded as 2398, how is RIVETS coded?
(a) 232679 (b) 234769 (c) 243769 (d) 234976

How many M’s are there that are preceded by T and followed by A in the given letter
series? - ATMADWAMDDTMAWATDTMAMDDATMAA

(@1 (b) 2 (c)3 (d) 4

In a certain code FIRE is coded as DGPC. What will be the last letter of the coded word for
SHOT.

(@) Q (b)R (€)S (d)P

Pointing to a photograph of a boy, Suresh said, "He is the son of the only son of my
mother.” How is Suresh related to that boy?

(a) Brother (b) Uncle (c) Cousin (d) Father
Bank is related to Money in the same way as Transport is related to
(@) Traffic (b) Goods (c) Speed (d) Road

One writes all numbers from 50 to 99 without the digits 2 and 7. How many numbers have
been written?

(a) 32 (b) 36 (c) 40 (d) 38
Find the odd one out
(@) Apple (b) Orange (c) Mango (d) Papaya

There are five books A, B, C, D and E placed on a table. If A is placed below E, C is placed
above D, B is placed below A and D is placed above E, then which of the following books
touches the surface of the table?
@cC (b) B (c) A d) E

SECTION D: GENERAL AWARENESS

Which Country’s national carrier is ‘Garuda Airlines’?

(a) Philipines (b) China (c) Japan (d) Indonasia
Khajuraho Group of temples are located in which state?

(@ M.P (b) U.P (c) Bihar (d) Orrisa
Who started Facebook?

(@) Bill Gates (b) Jimmy Wales  (c) Mark Zukerberg (d) Steve Jobs
When is the national population day?

(a) May 31 (b) July 11 (c) June 11 (d) August 10
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35.  Which of the following is not associated with UNO?

(@) ILO (b) WHO (c) ASEAN (d) None of the above
36. Which is the currency of Malaysia?

(a) Malaysian Dollar (b) Euro (c) Malaysian Rupee (d) Ringgit
37. ‘OS’ computer abbreviation usually means?

(a) Order of Significance (b) Open Software

(c) Operating System (d) Optical Sensor
38. B.C Roy award is given in the field of?

(@) Music (b) Journalism (c) Environment  (d) Medicine
39. Who invented gramophone?

(a) Thomas Alva Edison (b) Michael Faraday

(c) Fahrenhelt (d) Sir Alexander Gragambell
40. What is the national sports of China?

(a) Badminton (b) Table Tennis  (c) Basket Ball (d) Hockey
41. 'Who was known as the Iron man of India?

(a) Jawaharlal Nehru (b) Subhash Chandra Bose

(c) Sardar Vallbai patel (d) Givinda Vallabh pant
42. BRICS summit 2018 hosted by?

(a) South Africa (b) China (c) Brazil (d) Russia
43. Mc Mohan line is the boundary between India and

(@)China (b)Pakistan (c)Bangladesh (d)Sri Lanka
44. World Tourism Day is on

(@) Jan 26 (b) Sept 27 (c) Nov 11 (d) Feb 2
45. Who called Subhash Chandra Bose as Desh Nayak?

(a) Lala Lajpat Rai (b) Mahatma Ghandi

(c) Rabindra Nath Tagore (d) Bal Gangadhar Tilk

46. The most famous tourism circuit in India, Golden Triangle, comprises of Delhi, Agra and

(a) Hyderabad (b) Varanasi (c) Jaipur (d) Haridwar

47. 'Bagh', a village in Gwalior is famous for

(@) Sculptures (b) Cave Painting  (c) Architecture (d) Temples
48. 48. National Police Academy is located at

(a) Bangalore (b) Dehradun (c) Cochin (d) Hyderabad
49. Ajanta-Ellora Cave is situated near

(@) Ajmer (b)Patna (c) Aurangabad (d) Patna
50. Sun Temple is located at

(a) Konark (b) Bangalore (c) Haridwar (d) Kerala

SECTION E: SHORT ESSAY (200 Words)

51. (a) Explain the impact of climate change on Tourism Industry.
OR

(b) ‘Harthals and Bandhs in Kerala is a real set back to Kerala tourism’. Comment on this.
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